ORDER #003910



Cyrano Rox Experience 530 Molino St Suite 104 Los Angeles, Ca. 90013

Order Date: July 19, 2023 Due Date: Upon Receipt

PO: Shipping Address: HOLLYWOOD ATHLETIC CLUB 6525 W Sunset Blvd Los Angeles, CA 90028

EVENT DATE IS TUESDAY, AUGUST 1ST, 2023

DELIVER & INSTALL SUNDAY, JULY 30TH, 2023 AT 7AM

SET UP THE 12FT ROUND STAGE FIRST- MUST BE SET BY 9AM

RETURN MONDAY BETWEEN 7AM -8AM SET UP STAGE PIECES

PICK UP WEDNESDAY AUG 2ND, 2023 AT 8AM

Description		Qtty	Price		Total
LOBBY LANDI	NG - 1ST FLOOR				
	Purple Velvet Pipe and Drape (FOR ARCH WAY), 12FT HEIGHT X 8FT	2	\$100.00	Т	\$200.00
	Purple Velvet Pipe and Drape (BEHIND THE LIBRARY SHELVING), 12FT HEIGHT X 8FT WITH AN OPENING IN THE MIDDLE	1	\$100.00	Т	\$100.00
	То	Total LOBBY LANDING - 1ST FLOOR			\$300.00
BAR LOUNGE	- 1ST FLOOR				
	Bench, Black	5	\$35.28	Т	\$176.40
	Celine Ottoman, Black	10	\$43.00	Т	\$430.00
	Custom Decal (FOR CELINE OTTOMANS)	1	\$55.00	T	\$55.00
	Kanda Side Table	3	\$35.00	Т	\$105.00
	Dior Cocktail Table, Silver	6	\$50.00	T	\$300.00
0	Dior Bar Stool, Silver BLACK CUSHIONS	9	\$15.00	Т	\$135.00

Description		Qtty	Price		Total
		Total BAR LOUNGE - 1ST FLOOR			\$1,201.40
BAR LOUNGE	STAGE #1 (FOR DJ)				
	Stage, 6ft x 4ft x 12" Height with Marlite + Decal Cover ALL SIDES COVERED IN CUSTOM DECAL / TOP IN BLACK MARLITE	1	\$550.00	T	\$550.00
	Stage, 8ft x 4ft x 8" Height with Marlite + Decal Cover ALL SIDES COVERED IN CUSTOM DECAL / TOP IN BLACK MARLITE	1	\$675.00	T	\$675.00
	Total *B	BAR LOUNGE* STAGE #1 (FOR DJ)			\$1,225.00
BAR LOUNGE	STAGE #2				
	Stage, 2ft x 2ft x 8" Height with Marlite + Decal Cover ALL SIDES COVERED IN CUSTOM DECAL / TOP IN BLACK MARLITE	1	\$250.00	T	\$250.00
	Stage, 4ft x 2ft x 8" Height with Marlite + Decal Cover ALL SIDES COVERED IN CUSTOM DECAL / TOP IN BLACK MARLITE	1	\$350.00	Т	\$350.00
		Total *BAR LOUNGE* STAGE #2			\$600.00
BAR LOUNGE	STAGE #3				
	Stage, 5ft x 4ft x 12" Height with Marlite + Decal Cover ALL SIDES COVERED IN CUSTOM DECAL / TOP IN BLACK MARLITE	1	\$550.00	T	\$550.00
	Stage, 6ft x 4ft x 8" Height with Marlite + Decal Cover ALL SIDES COVERED IN CUSTOM DECAL / TOP IN BLACK MARLITE	1	\$550.00	T	\$550.00
		Total *BAR I	_OUNGE* STAGE	#3	\$1,100.00
MOROCCAN RO	DOM - 1ST FLOOR				
	Lounge Set #1	3	\$750.00	Т	\$2,250.00
	Infinity Sectional, Taupe (4) PIECES EACH SET	12	\$0.00	T	\$0.00
	Darzy Club Chair, Off White Faux Shearling	4	\$0.00	T	\$0.00
	Gem Coffee Table, Gold	3	\$0.00	T	\$0.00
	Celine Ottoman, Taupe (4) OTTOMANS ON EACH SET	12	\$0.00	T	\$0.00
	Fushia Velvet Pillows	8	\$0.00	T	\$0.00
	Deep Purple Pillows	12	\$0.00	Т	\$0.00
	12ft x 8ft Height Diameter Round Stage with Black Marlite Cover	1	\$1,600.00	T	\$1,600.00

Description		Qtty	Price		Total
	Wired Cocktail Table	10	\$90.00	Т	\$900.00
	Leonie Sofa, Beige LOUNGE SET#2	5	\$750.00	Т	\$3,750.00
	Wired Coffee Table LOUNGE SET#2	5	\$0.00	Т	\$0.00
	Celine Ottoman, Off White (3) OTTOMANS ON EACH SET	16	\$0.00	Т	\$0.00
	BLACK ROUND PILLOW SET (FOR LEONIE SOFA) LOUNGE SET#2	1	\$0.00	Т	\$0.00
		Total MOROCCAN ROOM - 1ST FLOOR			\$8,500.00
VIP LOUNGE - 2	ND FLOOR				
	Dubai Cocktail Table	4	\$65.00	Т	\$260.00
	Dior Barstool, Black BLACK CUSHIONS	12	\$20.00	Т	\$240.00
	Lounge Set #3 Fee	2	\$750.00	Т	\$1,500.00
	Infinity Sectional, Black (5) PIECES PER LOUNGE SET	10	\$0.00	Т	\$0.00
	Celine Ottoman, Black (3) PIECES PER LOUNGE SET	6	\$0.00	Т	\$0.00
	Gem Coffee Table, Gold	2	\$0.00	Т	\$0.00
		Total VIP LOUNGE - 2ND FLOOR		.OOR	\$2,000.00
Services					
	TRUCKING FEE	2	\$250.00		\$500.00
	EVENT INSTALLATION FEE *SUNDAY FEE*	6	\$240.00		\$1,440.00
	SECOND INSTALL DAY *MONDAY FEE*	3	\$180.00		\$540.00
	EVENT BREAKDOWN FEE	6	\$200.00		\$1,200.00

Notes Total Products: \$14,926.40

Total Labor/Services/Misc: \$3,680.00

Taxes: \$1,242.38

Discounts: (\$1,848.75)

Total: \$18,000.03

Payments: (\$5,000.00) Balance: \$13,000.03